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Expenditure for infrastructure augmentation = Add all attribute (excluding Library) = 13.50912 lakh
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Total Expenditure excluding salary = Total - Surplus - Depreciation- Employee remuneration = 499.62086 lakh
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Academic Maintenance + Physical Maintenance = (Hardware M + Electricity M + College M + Building M + Garden M + Repair & M Expenses) = 42.55116
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Expenditure for infrastructure augmentation = Add all attribute (excluding Library) = 7.03876 lakh
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Total Expenditure excluding salary = Total - Surplus - Depreciation- Employee remuneration = 417.5284 lakh
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Academic Maintenance + Physical Maintenance = (Hardware M + Electricity M + College M + Building M + Garden M + Repair & M Expenses) = 48.28285 lakh
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Expenditure for infrastructure augmentation = Add all attribute (excluding Library) = 68.89361 lakh
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Total Expenditure excluding salary = Total - Surplus - Depreciation- Employee remuneration = 364.86944 lakh
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Academic Maintenance + Physical Maintenance = (Hardware M + Electricity M + College M + Building M + Garden M + Repair & M Expenses) = 20.11553 lakh
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Expenditure for infrastructure augmentation = Add all attribute (excluding Library) = 56.31398 lakh
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Total Expenditure excluding salary = Total - Surplus - Depreciation- Employee remuneration = 239 lakh
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Academic Maintenance + Physical Maintenance = (Hardware M + Electricity M + College M + Building M + Garden M + Repair & M Expenses) = 31.61587Lakh
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Total Expenditure excluding salary = Total - Surplus - Depreciation- Employee remuneration = 298.764 lakh
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Expenditure for infrastructure augmentation = Add all attribute (excluding Library) = 85.88975 lakh
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